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Diview Tw(T1 Z1,- -, Tn Tp){y1 = 215 5Yn = Tn ] =
method Object [| v$() {
Object [] o = new Object [n];
o[0] = wrap y1;

oln — 1] = wrap yn;
return o;

}

Diview T(11 @1, ..., Tn Tp){y1 = T1;...;Yn = Tp}] =
method Object [| T$8() {
Object [] o = new Object [n];
o[0] = wrap y1;

oln — 1] = wrap ya;
return o;

}

T(Tl T1y.-.3Tn In){yl =T15---3Yn = xn}

2 Switch

D[switch v {case 7y Ry;...;case 7, Rp}] =
Object [] o;
'D[[T{(TLl R171, - 7Tl,n1 lel), . 7TIIC(T]€71 Rk,la e aTk,nk Rk,nk)]]

Dlri(t1,1 RBitsee s Ting Bing)se s T(Th1 Rty ooy Tiong Bieny )] =
if (v instanceof 71) {
1 v$ = (17)v;
D[[tl,l Rl,la ceey Tlng Rl,nl]]Tl/
} else if (v instanceof 73) {

} else if (v instanceof 71,) {
77, v$ = (t},)v;
D[tk Ris- - Thony, Rieny |74,

}



